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2007 State Fair Stockmens Contest – Senior Team Problem

You are a commercial cow-calf producer.  This year's hay harvest was about 60% of normal.  Drought conditions caused you to have limited pasture during the summer and fall.  Now, it is time to make plans for winter feeding.
1. Your cows average 1200 pounds.  Your Extension Agent
has told you that pregnant cows eat 2% of their body weight
in dry matter every day.  How many pounds of dry matter is this?

2. Your hay bales average 800 pounds, and the forage
test says they are 87% dry matter.  How many pounds
of dry matter is in one round bale of hay?

3.How many cows can this bale feed per day, 

assuming that there is no hay wasted?

4. You have read that you can provide 10 pounds of hay each day 

plus 10 pounds of Corn Gluten Feed to adequately feed a cow.  

Assuming 150 days and 65 cows, how much 

Corn Gluten Feed, do you need for the winter?                                           Pounds, 0 Decimals
5. The Corn Gluten Feed (CGF) costs $130 per ton. 

 How much does it cost to provide 10 pounds of CGF

daily to one cow for the entire 150-day winter period?






6. Broiler litter is another option for replacing some hay.

You can buy it from the grower at $18 per ton, but you

must pay for trucking to your farm.  Truck cost is $3.00

per loaded mile, the distance is 150 miles, and the truck

can haul 20 tons.  What is the trucking cost per ton?
    


7. TDN is a measure of feed energy.  Your hay is 52% TDN.  


The Corn Gluten Feed is 83% TDN.  On an equal energy basis, 
when you feed 1 pound of CGF, how much hay does it replace? 

8. The local feed store sells a beef feed that contains 40 grams of
Rumensin per ton of feed.  (Rumensin improves efficiency

of feed use in cows).  If you want each cow to get 200 milligrams            Answer in pounds, 

of Rumensin each day, how much of this feed does she get?                            1 decimal
9. You have decided that shelled corn is the feed you will buy.
It is priced at $3.80 per bushel.  You need 22 tons.  If a bushel of

corn weighs 56 pounds,  what is the total cost of the corn?

10. Your cows are too thin.  You want them to gain 150 pounds

before the start of calving on February 1.  (1 condition score is

roughly equal to 100 pounds).  What is the rate of gain needed to

achieve this goal from October 1?  (assume a month is 30 days)
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